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Q1) What are the advantages and disadvantages of wireless local area network %}g r LAN?

What are the design goals for wireless LANs? )]
Q2) 3(6)
a) Compare HIPERLAN 1, HIPERLAN 2, HIPERLAN 3 an%% AR 4 in
terms of application, frequency band, topology, QoS, Mobility, i%%e aée and data
rate. F “}@
b) What are the characteristics of Bluetooth technology. in g@%&,@f frequency band,
modulation scheme, transmitted power, spreading té »‘%lq_ -ahd multiplexing.
c) What are two modes of operation of Bluctooth. Why degwve prefer SCO for voice
communication? \
Q3)
a) Compare Infrared Vs radio (5)
b) Compare Infrastructure Vs AD. 'ork.
Q4 3 (3)

a) How do [EEE 02. I%T{LAN 2 and Bluetooth, respectively solve the hidden
terminal probl 5
b) Why is the RHY lay;

Egﬁain the*rame hierarchy in a traffic multiframe used in GSM.
Ty, Ry y,
Q@ﬁ%(‘:‘*ﬁ*@ pare the two modes of UMTS Terrestrial Radio Access (UTRA) i.c UTRA FDD

k%

", (W-CDMA) and UTRA TDD (TD CDMA). (5)

Q5) What’ﬁ?’éis erent logical channels used in GSM? What are they used for?  (85)

Q7) An urban area has a population of 20 lakh residents. Three competing trunked mobile
Networks (system A, B and C) provide cellular service in this area. System A has 394
cells with 19 channels each, system B has 98 cells with 57 channels each, and system
C has 49 cells with 100 channels each. Find the number of users that can be supported
at 2% blocking if each user averages 2 calls per hour at an average call duration of
three minutes. Assuming that all three trunked systems are operated at maximum
capacity, compute the percentage market penetration of each cellular provider.  (5)



